JCPSICE-2017 Set 04

Topic:- Set04_GS

1) 1n 12t G20 Summit-2017 who will lead the Indian delegation?

12th G -30 (2017) FfE &1 FIT YR SHNRE &1 Agaa Ham
[Question ID = 279428]

1. Rajnath Singh / ISHTY f&8 [Option ID = 1079523]

2. General V. K. Singh / SFRa &t . & . g [Option ID = 1079524]
3. Ajit Doval / 3ifSTd StaTd [Option ID = 1079525]

4. Narendra Modi / “R& Hig! [Option ID = 1079526]

Correct Answer :-
« Narendra Modi / 7% Higl [Option ID = 1079526]

2) Who has been appointed as the Chief Election Commissioner (CEC) of India in 2017?

2017 ¥ URd $T A6 SATRE BIAYR DI Frgad gai ?
[Question ID = 279429]

1. Nasim Zaidi / T ot [Option ID = 1079527]

2. Achal Kumar Jyoti / 3fad $HR SAIfd [Option ID = 1079528]
3. S K Khurana / T & RIAT [Option ID = 1079529]

4. 0 P Rawat / 3ff Ot I1@d [Option ID = 1079530]

Correct Answer :-
e Achal Kumar Jyoti / 3{dcl HR S [Option ID = 1079528]

3) In the solo category which Indian has for the first time won the 4,900-km Race Across America
(RAAM) ?

et N A fF9 YR A Ugel IR @RS A 4900 fhaier (3R T T TW ) &1 39 siidl?
[Question ID = 279430]

1. Amit Samarth / 3ifird T5 [Option ID = 1079531]

2. Srinivas Gokulnath / SIf9aTT Mg [Option ID = 1079532]
3. Nishant Sharma / f3=1id =f [Option ID = 1079533]

4. K K Sengar / & o IR [Option ID = 1079534]

Correct Answer :-
« Srinivas Gokulnath / SifAaT M@y [Option ID = 1079532]



4) Ram Shankar Katheria, a BJP MP from Agra, has been appointed a chairman of which one of the
following?

I TP Bofvar, ot o bt va ht &) frwferfaa A 3 fora wR Su=A a9 man @2
[Question ID = 279431]

1. National Commission for Scheduled Castes (NCSC) / SRMd HHIRM HIR Rig3fid HRed (NCSC) [Option ID =
1079535]

2. ISRO / ST [Option ID = 1079536]

3. UPSC / g Ut 319 T [Option ID = 1079537]

4. DRDO / f$§ 3R f$ 3 [Option ID = 1079538]

Correct Answer :-

« National Commission for Scheduled Castes (NCSC) / “RFd HHIRM ik RIgs{id &Red (NCSC) [Option ID =
1079535]

5) What was the theme of Micro, Small and Medium Enterprises (MSME) Day organized on June 27,
2017 ?

T 27, 2017 W 3iFHZSS ASHT , VT TS HHAH SexuTgos (MSME) @1 8t @ fi?
[Question ID = 279432]

. Small business — paramount impact’ / I ooy - IRMSe T.i’IaT:E' [Option ID = 1079539]
. ‘Small business — global impact’ / T oY - ded sTaTR’ " [Option ID = 1079540]

. ‘'Small business — big impact’ / “HId faomg - o sTaTE " [Option ID = 1079541]

. ‘'Small business — great impact’ / “HId foom v -3 sTaT:lE " [Option ID = 1079542]

A WN -~

Correct Answer :-
« 'Small business — big impact’ / “Tel fa¥ — a7 3@ae * [Option ID = 1079541]

6) Mawlynnong, the cleanest village is situated in ?
W I9d AT Tia R 72
[Question ID = 279433]

1. Mizoram / feiR" [Option ID = 1079543]

2. Meghalaya / HET@T [Option ID = 1079544]

3. Nagaland / TFTIeIS [Option ID = 1079545]

4. Arunachal Pradesh / 3RUIId USRI [Option ID = 1079546]

Correct Answer :-
« Meghalaya / HETad [Option ID = 1079544]

7) What was the amount allocated in the 2016 Union Budget of India for Swachh Bharat Abhiyan?

YR IPR 7 WP HRA MFUIHE & 7w 2016 A foraar geie amdfed fear

[Question ID = 279434]



1. Rs. 80 billion / Rs. 80 fafcr [Option ID = 1079547]
2. Rs. 90 billion / Rs. 90 fafera [Option ID = 1079548]
3. Rs. 100 billion / Rs. 100 fafera [Option ID = 1079549]
4. Rs. 25 billion / Rs. 25 f&fera [Option ID = 1079550]

Correct Answer :-
« Rs. 90 billion / Rs. 90 faferad [Option ID = 1079548]

8) The year 2011 was declared by the United Nations as the International Year of ?

2011 Y FATSCS A A fFw siawrgia o & v A wifa fear?
[Question ID = 279435]

1. Forests / TIR¥c [Option ID = 1079551]

2. Communication / Wﬁaﬂﬂ [Option ID = 1079552]
3. Potato / Ticel [Option ID = 1079553]

4. Astronomy / T&HIHT [Option ID = 1079554]

Correct Answer :-
. Forests/m [Option ID = 1079551]

9) In India, the capital market is regulated by ?

YR #, goit 9iR a1 Frafa frar smar g gRT
[Question ID = 279436]

1. Reserve Bank of India / f9/d S 3iTte 3f&aT [Option ID = 1079555]

2. Bombay Stock Exchange / T Wi TR [Option ID = 1079556]

3. National Stock Exchange / ARId CIdh TRIT] [Option ID = 1079557]

4. Securities & Exchange Board of India / RGOS & TR €18 316 3301 [Option ID = 1079558]

Correct Answer :-
« Securities & Exchange Board of India / RIaaiREIST & TR &I 31 34T [Option ID = 1079558]

10) The current age of retirement for Supreme Court judges is ? T B & o BI ICARATES I IH
T 3?

[Question ID = 279437]

1. 65 years / 65 @ [Option ID = 1079559]
2. 58 years / 58 ¥ [Option ID = 1079560]
3. 60 years / 60 9% [Option ID = 1079561]
4. 61 years / 61 I [Option ID = 1079562]

Correct Answer :-
« 65 years / 65 @S [Option ID = 1079559]



Who is the Chairman of amazon.com?

3RV STc BIH & A B 82
[Question ID = 279438]

1. Amit Agarwal / 3{f¥d 3FIdTd [Option ID = 1079563]
2. Andrew Jassy / T75d SIE8! [Option ID = 1079564]
3. Jeff Wilke / S'9% fde® [Option ID = 1079565]

4. Jeff Bezos / STF% SN [Option ID = 1079566]

Correct Answer :-
« Jeff Bezos / ST9% &SI [Option ID = 1079566]

12) Which river is also known as YarlungZangbo ?

foa 78 &) gretrstitral WY ST oTar 22
[Question ID = 279439]

1. Ganga / T [Option ID = 1079567]

2. Indus / &g [Option ID = 1079568]

3. Brahmaputra / S&T4a [Option ID = 1079569]
4. Godavari / TiGTaxT [Option ID = 1079570]

Correct Answer :-
» Brahmaputra / SisT9 [Option ID = 1079569]

13) At which of following airports India tallest Air Traffic Control tower will be operational from July
2017?

5T TaRUIE IR S 2020 B URA BT TG ST ¢ deld HTH B TN?
[Question ID = 279440]

1. Mumbai / &% [Option ID = 1079571]

2. Kolkata / ®IaaTdl [Option ID = 1079572]
3. Bangalore / SR [Option ID = 1079573]
4. Delhi / Tl [Option ID = 1079574]

Correct Answer :-
e Delhi/ o [Option ID = 1079574]

14) Which State capital is hosting the 9t" edition of Delhi Dialogue?

T I5u Y Ieryr oth ufdw oifee fRweht STgueT &) Aar &¥m?
[Question ID = 279441]

1. Kanpur / ®TIUR [Option ID = 1079575]
2. Kolkatta / @@ [Option ID = 1079576]
3. Jaipur / SIAYR [Option ID = 1079577]



4. New Delhi / T3 faeeft [Option ID = 1079578]

Correct Answer :-
« New Delhi / T3 &l [Option ID = 1079578]

15) Which of the following is the theme for 2017 International Co-operative Day (IDC)?

fFrafafaa A ¥ 19 W fiu 3030 Fev[d Si-3TuRfed $ (IDC) F 82
[Question ID = 279442]

1. Co-operatives ensure no one is left behind / H1-3ffiRfeed TR I &9 1 A f98ES [Option ID = 1079579]
2. Choose co-operatives, choose equality / ol Pl -3y, ESl gehfdc! [Option ID = 1079580]

3. Co-operative enterprise empowers women / P -3fTaRfeg TeuTsd Q'Eﬁaﬁ qﬁ? [Option ID = 1079581]

4. Peace-building through Co-operatives / T -fafeET ot @1 -3 [Option ID = 1079582]

Correct Answer :-
« Co-operatives ensure no one is left behind / @1-3TURfeed TR A 59 1 At f9gES [Option ID = 1079579]

16) In which of the following states India’s first cattle blood bank will be set up?

frafafaa @ @ fF9 yrRda 3T50 A Fea @8 o wifd grme
[Question ID = 279443]

1. Uttar Pradesh / STR W= [Option ID = 1079583]
2. Maharashtra / HeRTY [Option ID = 1079584]

3. Odisha / 3fIfSTM [Option ID = 1079585]

4, Punjab / USTTS [Option ID = 1079586]

Correct Answer :-
e Qdisha / 3Nfey [Option ID = 1079585]

17) India’s first freight village will be set up in which of the following cities?

YRd $T Ugdl e faas 5 zrex A s97m?
[Question ID = 279444]

1. New Delhi / 71 faeeit [Option ID = 1079587]
2. Udaipur / SSUTR [Option ID = 1079588]

3. Varanasi / GRTURIT [Option ID = 1079589]

4. Chennai / 9% [Option ID = 1079590]

Correct Answer :-
« Varanasi / IRTORIT [Option ID = 1079589]

18) Asian Developmental Bank has sanctioned loan to PNB to finance which of the following
projects in 2017?



TRMETE Sgauicd 9@ A UWE AT 9 I Brg-d far Fufafad 3 9 f$9 neee & foe?
[Question ID = 279445]

1. Watershed project / TS Uloide [Option ID = 1079591]

2. Solar rooftop projects in India / IR TWelg Eﬁﬁﬂ oA sfan [Option ID = 1079592]
3. Rain water harvesting / ¥ aTex gTdReTT [Option ID = 1079593]

4. Sprinkler irrigation / @Wsﬁﬂ"\fﬁ [Option ID = 1079594]

Correct Answer :-
« Solar rooftop projects in India / IR ¥=WHeid Uiolacd 3 f$dT [Option ID = 1079592]

19) Who among the following was the first actor to play the character of James Bond?

frrafefad & @ 9 9w ais &1 fhveR FIHM arar ugar sifiear o
[Question ID = 279446]

1. George Lazenby / EIGASEE [Option ID = 1079595]
2. Sean Connery / |19 @=%I [Option ID = 1079596]

3. Roger Moore / T\IJGITH\D{ [Option ID = 1079597]

4. Timothy Dalton / feHIft S [Option ID = 1079598]

Correct Answer :-
« Sean Connery / 19 ®=%I [Option ID = 1079596]

20) Which of the following countries has not ratified the Kyoto Protocol?
Frafafea & 3 fea ¢ 3 Fie vicsia ot gip 78 32
[Question ID = 279447]

1. China / M [Option ID = 1079599]

2. Russia / =9 [Option ID = 1079600]
3. India / $f&dT [Option ID = 1079601]
4. USA / g T9 T [Option ID = 1079602]

Correct Answer :-
e USA/ QWQ [Option ID = 1079602]

21) Adlabs Films is owned by ?

T firen wIferd 3 82
[Question ID = 279448]

1. RIL / 3R 3fT5 T [Option ID = 1079603]

2. Dr. Subhash Chandra / ST . gHT¥ T [Option ID = 1079604]
3. ADAG / TSIUSIt [Option ID = 1079605]

4. Sunil Mittal / g-idl fr=iel [Option ID = 1079606]



Correct Answer :-
+ ADAG / TSITsI [Option ID = 1079605]

22) India's highest annual rainfall is reported at which of the following places?

YRd B T Sifte a1 quf Faferfas wmE & 3 foa o gidt 8 Ruid & sgar?
[Question ID = 279449]

1. Gangtok, Sikkim / Ti7Tei®, Rifd®H [Option ID = 1079607]

2. Jaisalmer, Rajasthan / aﬂﬁ'ﬁ% RISTRYTF [Option ID = 1079608]

3. Mawsynram, Meghalaya / Tﬁ?ﬁﬂﬂ'ﬁ, =3I [N [Option ID = 1079609]

4. Khajjiar, Himachal Pradesh / @If&13R, fRHIA TSR [Option ID = 1079610]

Correct Answer :-
* Mawsynram, Meghalaya / ﬁ?ﬁmm, =3I [ [Option ID = 1079609]

23) In how many Assembly constituencies of Goa the assembly election was conducted in 2017 ?

e # fra- Ay fFrafas &5 15 030 U3 U=yt 919 $HRame 1 ?
[Question ID = 279450]

1. 60 [Option ID = 1079611]
2. 87 [Option ID = 1079612]
3. 40 [Option ID = 1079613]
4. 80 [Option ID = 1079614]

Correct Answer :-
e 40 [Option ID = 1079613]

24) The temples of which Indian states have gone digital by HDFC Bank ?

YRA & 5y I & wieR # gsw 3@ A f3forea yomelt &1 amewy frar 8 2
[Question ID = 279451]

1. Kerala / &Rall [Option ID = 1079615]

2. Tamil Nadu / 9fH@Tg [Option ID = 1079616]

3. Karnataka / @Hfcd [Option ID = 1079617]

4. Andhra Pradesh / 3ff$f TG®T [Option ID = 1079618]

Correct Answer :-
e Tamil Nadu /Hﬁlﬂ:ﬂg [Option ID = 1079616]

25) Manish Tewari has been appointed as senior fellow of which US think tank named ?

Ty faarst &t sAReT & o ugs ded &1 aRE Wexy I T g ?

[Question ID = 279452]



1. Columbia council / PIdeaT HIRYS [Option ID = 1079619]
2. Fanetic council /Wﬁ%ﬁﬁlﬂ [Option ID = 1079620]
3. Atlantic council / 3fedife® HIRIT [Option ID = 1079621]
4. Federal council / Te3d HIRIA [Option ID = 1079622]

Correct Answer :-

« Atlantic council / 3fcdifeds HIfRIe [Option ID = 1079621]

26) Which international organisation is responsible for field hockey’s major international
tournaments, notably the World Cup?

e & & F F saRTia WTe Tt F UHE SARRIPY gAtde S g1H aeE FU AT HRar § 2
[Question ID = 279453]

1. Federation of hockey / &2 (It B! [Option ID = 1079623]

2. National Hockey oranisation / I gl Giﬁ?lé@'ﬂ? [Option ID = 1079624]

3. FIH International Hockey federation / AT Bl HETH [Option ID = 1079625]
4. Hockey Federation / 81d! &< [Option ID = 1079626]

Correct Answer :-
» FIH International Hockey federation / SR Bidh! eI [Option ID = 1079625]

27) Which of the following states government will collaborate with the United Nations Office on
Drugs and Crime UNDOC to intensify anti-drug drive?

g 7 A 5 30 & 1Y gAT3eS AR My 39 379 TS 15 UNDOC A JgaRT forar § 51 it &t
ao HA & fw 2

[Question ID = 279454]

1. Tamil Nadu / AffeTg [Option ID = 1079627]
2. Maharashtra / H8RTY [Option ID = 1079628]
3. Odisha / 3fif$2M [Option ID = 1079629]

4, Punjab / USTTd [Option ID = 1079630]

Correct Answer :-
« Punjab / UG [Option ID = 1079630]

28) Which Indian State Launched “G-Ride”, a digital ride sharing app for techies?

5 R 35T A "Shit-Igs v, of fefored wgs Wufi vw e fear doy & foe?
[Question ID = 279455]

1. Uttar Pradesh / 3TR W=l [Option ID = 1079631]
2. Kerala / &< [Option ID = 1079632]

3. West Bengal / 9% §TTd [Option ID = 1079633]
4. Tamilnadu / Flﬁ?l‘ﬂ_g’ [Option ID = 1079634]

Correct Answer :-



« Kerala / &Xal [Option ID = 1079632]

29) “Textiles India 2017"” India’s first-ever mega textiles trade event was in which of the following
city?

TFTSE 33T 2030 HIRT HT I T8T ¢S 3dc &I YA P AR AT 2 ?
[Question ID = 279456]

1. Gandhinagar / MR [Option ID = 1079635]
2. Lucknow / T3, [Option ID = 1079636]

3. Delhi / f&&t [Option ID = 1079637]

4. Mumbai / 485 [Option ID = 1079638]

Correct Answer :-
« Gandhinagar / TR [Option ID = 1079635]

30) Which of the following committees has been formed by Maharashtra Government for Padma
Awards 2018

HERTY PR A Frafifad & 4 5w $38 o1 764 2018 UeH [REHRI & g fFar 82
[Question ID = 279457]

1. Ram Shinde committee / I g B [Option ID = 1079639]

2. Sudhir Mungantiwar committee / &R TcIdR HECT [Option ID = 1079640]
3. Vinod Tawde committee / fa=ig dras &t [Option ID = 1079641]

4. Chandrakant Patil committee / Tgaid Uified ST [Option ID = 1079642]

Correct Answer :-
« Ram Shinde committee / I i HHACT [Option ID = 1079639]

Topic:- Set04_GSci
1) Alow lying cloud is

U® S 9164 @ [Question ID = 279741]

1. Frost / g9R [Option ID = 1080771]

2. Fog / I8 [Option ID = 1080772]

3. Smog / YH-HIeT [Option ID = 1080773]
4. Dew / 319 [Option ID = 1080774]

Correct Answer :-
« Fog / ®IgxT [Option ID = 1080772]

2) A hormone that controls blood sugar level is ?

TSP STHIA S Iad DT P WX B AT a1 82 [Question ID = 279742]

1. Insulin / 3 o [Option ID = 1080775]



2. Leptin / WP+ [Option ID = 1080776]
3. Relaxin / RAfRIA [Option ID = 1080777]
4. Follicle-stimulating hormone / Bifcidd fReRIaeTT BIH [Option ID = 1080778]

Correct Answer :-
« Insulin / $YfeH [Option ID = 1080775]

3) in surface area exposed increases the rate of evaporation.

TR AT S ¥ STOfiHRT F1 &R 9¢ STl @ [Question ID = 279743]

1. Decreases / H! [Option ID = 1080779]
2. Increase / 9G4 [Option ID = 1080780]
3. Stops / ¥ [Option ID = 1080781]

4. Halts / Y ST [Option ID = 1080782]

Correct Answer :-
e Increase/ EIE%I [Option ID = 1080780]

4) Formula for magnesium chloride is

AR FARTSS FTYA B [Question ID = 279744]

1. MgCl,4 [Option ID = 1080783]
2. Mg,Cl, [Option ID = 1080784]
3. MgCl, [Option ID = 1080785]
4. MgCl [Option ID = 1080786]

Correct Answer :-
» MgCl, [Option ID = 1080785]

5) is considered as the fourth state of matter.

P Uy 1 YT IRVT HET ST 81 [Question ID = 279745]

1. Liquid / dXd [Option ID = 1080787]

2. Plasma / WITSHT [Option ID = 1080788]
3. Solid / 31 [Option ID = 1080789]

4. Gas / 9 [Option ID = 1080790]

Correct Answer :-
« Plasma / WITSHT [Option ID = 1080788]

6) Mushroom, Yeast are example of

HYREH, @HR 1 3STET & [Question ID = 279746]

1. Saprophytes / SWTScH [Option ID = 1080791]
2. Heterotrophs / IELEPINE [Option ID = 1080792]
3. Herbivores / RIMTERT [Option ID = 1080793]

4. Autotrophs / WU S [Option ID = 1080794]



Correct Answer :-
» Saprophytes / @rc?rqﬂé?a [Option ID = 1080791]

7) A tooth situated between the canine and the molar teeth is

P18 3R AR gidl & d9 T gia 8 [Question ID = 279747]

1. Incisors / STUTORY [Option ID = 1080795]
2. Canines / / &+I13 [Option ID = 1080796]

3. Premolars / fHIGR [Option ID = 1080797]
4. Molars / HI@R [Option ID = 1080798]

Correct Answer :-
« Premolars / fUHIER [Option ID = 1080797]

8) is poor conductor of heat.

T &1 WRTd HSaeR @ [Question ID = 279748]

1. Copper / dfdT [Option ID = 1080799]
2. Metal / YTd [Option ID = 1080800]
3. Wool / & [Option ID = 1080801]
4. Stone / U&R [Option ID = 1080802]

Correct Answer :-
» Wool / 3 [Option ID = 1080801]

9) Photosynthesis takes place inside small things called

YT HIAYOT DI Aol $ 3R giar & ™ PET SITdT [Question ID = 279749]

1. Collenchyma / ®Ici=h13HT [Option ID = 1080803]
2. Chloroplast / FARIERE [Option ID = 1080804]
3. Cellulose / @IS [Option ID = 1080805]

4. Cytoplasm / SIRTeT ST [Option ID = 1080806]

Correct Answer :-
« Chloroplast / SRS [Option ID = 1080804]

10) Which state of matter has MOST space between its particles?

ford sraxT # ol & S g9 3ifIe w8141 & ? [Question ID = 279750]

1. Liquid / dXd [Option ID = 1080807]

2. Plasma / WITSHT [Option ID = 1080808]
3. Solid / 319 [Option ID = 1080809]

4. Gas / T [Option ID = 1080810]

Correct Answer :-
« Gas/ 9 [Option ID = 1080810]

11)



is an organism that produces complex organic compounds from simple substances present
in the surroundings.

TH Sfig @ Y TR ® Hivjg Qv uerdt ¥ sfed wefe Mrwl 1 3 #3dal 81 [Question
ID = 279751]

1. Heterotrophs / fayHaIyorST [Option ID = 1080811]
2. Herbivores / RIMTERT [Option ID = 1080812]
3. Autotrophs / TN [Option ID = 1080813]
4. Carnivores / HIRITERT [Option ID = 1080814]

Correct Answer :-
« Autotrophs / ¥aUIN® [Option ID = 1080813]

12) When we add starch to iodine solution it turns

W9 B9 TS W W STed & 91 98 __ 1 A 9¢d oaT & [Question ID = 279752]

1. Black / ohTell [Option ID = 1080815]
2. Blue / =1l [Option ID = 1080816]
3. Purple / ST [Option ID = 1080817]
4. Green / T [Option ID = 1080818]

Correct Answer :-
« Blue / =il [Option ID = 1080816]

13) are insoluble fats in water.

Ut § srger-i=ite 39T & [Question ID = 279753]

1. Riboflavin / JTZETURIfaA [Option ID = 1080819]
2. Folate / TIdie [Option ID = 1080820]

3. Lipids / foifUS [Option ID = 1080821]

4. Biotin / STAfeT [Option ID = 1080822]

Correct Answer :-
« Lipids / faiftre [Option ID = 1080821]

14) The of soil that is made up of living organism,organic materials and minerals.

frdh =it sfifaa ohtg, Sifde armht sk @Sl @ §991 81 [Question ID = 279754]

1. A Horizon / T8RTSGH [Option ID = 1080823]
2. Top Layer / SR Rd [Option ID = 1080824]
3. Top soil / 2 g [Option ID = 1080825]

4. B Horizon / SgRTH [Option ID = 1080826]

Correct Answer :-
« Top Layer / IR A [Option ID = 1080824]

15) The mass of an atom is the

TP URHIY] HT Fqq=H ® [Question ID = 279755]



1. Sum of protons and electrons / Uiel 3R Eﬁﬂ?ﬁlﬁf T IR [Option ID = 1080827]
2. Sum of protons and neutrons / qier 3R 75@‘[ BT AN [Option ID = 1080828]

3. Sum of electrons / aiacH! &1 TN [Option ID = 1080829]

4. Electrons / 3ddcI9 [Option ID = 1080830]

Correct Answer :-
« Sum of protons and neutrons / WTel9 3R =IgIH &I AT [Option ID = 1080828]

16) When Iron, Oxygen and Moisture combine is formed.

W TR, Sifqite 3R 7+t &1 Site gar @ a9 §94d1 2| [Question ID = 279756]

1. Rust / ST [Option ID = 1080831]

2. Oxide / 3TRITSS [Option ID = 1080832]
3. Metal / 9T [Option ID = 1080833]

4, Steel / $XUTd [Option ID = 1080834]

Correct Answer :-
« Rust / ST [Option ID = 1080831]

17) The brain is protected by -

uf&rs® _ & gRI1IRMéd 8| [Question ID = 279757]

1. Hydrocephalus / STarefie [Option ID = 1080835]
2. Meninges / HgfA=I [Option ID = 1080836]

3. Skull / WIS [Option ID = 1080837]

4. Gray Matter / ¥ Hex [Option ID = 1080838]

Correct Answer :-
« Skull / @ISt [Option ID = 1080837]

18) When toxin levels get higher in each tropic level it is called as -

9 U a1 &R | f9¥ TR I 8 W17 €, S8 Hel o4l ¢ - [Question ID = 279758]

1. Biological Magnification / @WG@T&“ [Option ID = 1080839]
2. Bioaccumulation / aﬁr&ra@ném [Option ID = 1080840]

3. Bioamplification / fysfeifRatreem [Option ID = 1080841]
4. Biology / STIGIST [Option ID = 1080842]

Correct Answer :-
« Bioamplification / fa3N3RaftF<H [Option ID = 1080841]

19) Stars shine by burning hydrogen into

o gTSIoH &) SaH 9§ R 97@d €1 [Question ID = 279759]

1. Carbon / & [Option ID = 1080843]

2. Helium / giferad [Option ID = 1080844]

3. Oxygen / 3fIfRTSH [Option ID = 1080845]
4. Nitrogen / =RISIH [Option ID = 1080846]



Correct Answer :-
« Helium / gIfeTad [Option ID = 1080844]

20) Ursa Major is an example of -

I AR T T ISTETU1 & [Question ID = 279760]

1. Aquarius / $H [Option ID = 1080847]

2. Cassiopeia / SIS [Option ID = 1080848]

3. Circumpolar Constellations / H8d dRTHEd [Option ID = 1080849]
4. Canis Major / -9 AR [Option ID = 1080850]

Correct Answer :-
« Circumpolar Constellations / Hed dRTHSd [Option ID = 1080849]

Topic:- Set04_GSJ

1) Out of the 6 Chief Minister of Jharkhand since its creation in 2000 how many of them were
Independent candidate ?

FRTS & 6 GEIHAT & 2000 # AU & 91¢ A 379 J fraq FAdelta sufiqar A2
[Question ID = 279488]

1. 0 [Option ID = 1079764]
2. 4 [Option ID = 1079765]
3. 2 [Option ID = 1079766]
4. 1 [Option ID = 1079767]

Correct Answer :-
e 1 [Option ID = 10797671

2) For how many times Arjun Munda has served as the chief minister of Jharkhand ?

IS YT A FIRES & gEEH & ©U ¥ fFa-t aR a1 i 82
[Question ID = 279489]

1. 3/ dF [Option ID = 1079768]
2.2/ @I [Option ID = 1079769]

3.1/ W& [Option ID = 1079770]
4. 4 | IR [Option ID = 1079771]

Correct Answer :-
« 3/ dH [Option ID = 1079768]

3) How many times the elections of the Jharkhand Legislative Assembly has been held since its
formation in year 2000?



FRES AU YT & gATal & 2000 F TS & TG | fHa-t IR TG gL B2
[Question ID = 279490]

1. 5/ Uid [Option ID = 1079772]
2. 6 / T [Option ID = 1079773]

3. 3/ @ [Option ID = 1079774]
4. 4 | IR [Option ID = 1079775]

Correct Answer :-
e 4 /dR [Option ID = 1079775]

4) In which year was the President Rule implemented in Jharkhand for the third time ?

FREsS # T IR fpw o wrgufa e ang ge ur?
[Question ID = 279491]

1. january 2009 / SFaRt 2009 [Option ID = 1079776]
2. june 2010 / S 2010 [Option ID = 1079777]
3. january 2013 / SFaRT 2013 [Option ID = 1079778]
4. june 2011 / Y[+ 2011 [Option ID = 1079779]

Correct Answer :-
e january 2013/ STHaRI 2013 [Option ID = 1079778]

5) Which of the following is a rabi crop grown in Jharkhand?

T 9 ®iF H W& BUY FIRES A ITE TS 82
[Question ID = 279492]

1. Gram / dHT [Option ID = 1079780]

2. Maize / HaPT [Option ID = 1079781]

3. Bajra / dISRT [Option ID = 1079782]

4. groundnut / H?ch_cﬁ [Option ID = 1079783]

Correct Answer :-
e Gram / 9T [Option ID = 1079780]

6) Which of the following is not the major Industrial zones of Jharkhand categorized by the
Government ?

30 A D 91 FRTS BT UE e &7 R gR1 aiffpa 781 872
[Question ID = 279493]

1. Adityapur Industrial Area Development Authority, Jamshedpur (AIADA) / H@EIHT e & fawr PlIRERS
SHRIGYR (T3METSIT) [Option ID = 1079784]

2. Bokaro Industrial Area Development Authority, Bokaro (BIADA) / SI®RI Ssficad TRaT Saaudc UiRel,
FHRI (FSMEIMETSIT) [Option ID = 1079785]



3. Ranchi Industrial Area Development Authority, Ranchi (RIADA) / =R N &7 e mfﬁw, REll
(SRIMETSITY) [Option ID = 1079786]

4. Jamshedpur Industrial Area Development Authority, Jamshedpur (JIADA) / SHRIGER 3iefie & fasr
UITIHRUT, SHRIGYR (fofaimar) [Option ID = 1079787]

Correct Answer :-

» Jamshedpur Industrial Area Development Authority, Jamshedpur (JIADA) / aﬂiﬁa’g? e &= fasm
TR, STHRIGYR (ffaMmar) [Option ID = 1079787]

7) Dalma Wildlife Sanctuary is situated around which of the following hills ?

T 9Sig RUY & IR} R FAufafad vegifsal A A F T g?
[Question ID = 279494]

1. the Dalma Hills. / &eHT 8@ [Option ID = 1079788]
2. Himalya / f@HTerg [Option ID = 1079789]

3. cheru / I [Option ID = 1079790]

4. mannar / AR [Option ID = 1079791]

Correct Answer :-
« the Dalma Hills. / G&1 g [Option ID = 1079788]

8) Bokaro was established in 1991 by carving out how many blocks from Giridih District ?

%2 A SR forem 31 WrgAT & forg fiftdie e @ fvam s forg me
[Question ID = 279495]

1. two blocks / &l &l [Option ID = 1079792]
2. three blocks / dF &I [Option ID = 1079793]
3. six blocks / &8 &i® [Option ID = 1079794]
4. eight blocks / 3T A& [Option ID = 1079795]

Correct Answer :-
e six blocks / 9% Db [Option ID = 1079794]

9) The Chatra district is situated on which National Highway?

Ta1 foren few wga et R fRua 82
[Question ID = 279496]

1. 99 & 100 / ’R TS %00 [Option ID = 1079796]
2. 98 &100 / ’¢ TS 2000 [Option ID = 1079797]
3. 12&13 / 2R TS 23 [Option ID = 1079798]
4. 13 &23 / %3 U8 R3 [Option ID = 1079799]

Correct Answer :-
e 99 & 100 / ’R TS 200 [Option ID = 1079796]



10) The famous mela of Shrawan is celebrated in which temple of Jharkhand ?

IRES P 5 w@fex & yqur &1 ufkig Aer 791 S1aT 82
[Question ID = 279497]

1. Mahakaleshwar Mandir / H8T®TeI4R Hfex [Option ID = 1079800]
2. Shiv Shakti Mandir / 1@ =ifad Hfex [Option ID = 1079801]

3. Mahakal Temple / H&T&Td Hfx [Option ID = 1079802]

4. Baidyanath Temple / STy iR [Option ID = 1079803]

Correct Answer :-
« Baidyanath Temple / ST TR [Option ID = 1079803]

11) Purbi Singhbhum district is situated at which corner of Jharkhand.?

Rt RigyH forem sIRws & oy R w Ry« @2
[Question ID = 279498]

1. Northest corner / 3R Uf3Ht &I [Option ID = 1079804]
2. Esat corner / qﬁﬁﬁ [Option ID = 1079805]

3. southeast corner / Ef\&lvltl:q: B [Option ID = 1079806]
4. West Corner / 9% ®I-% [Option ID = 1079807]

Correct Answer :-
« southeast corner / Gf&UIqd ®I- [Option ID = 1079806]

12) How many blocks of Palamau district were separated so as to have an an independent district
"Garhwa" ?

TP oA forar "ear & wu § yany fora & fea sie srenT fre g A2
[Question ID = 279499]

1. 4 /IR [Option ID = 1079808]
2. 6 / &g [Option ID = 1079809]
3.7/ ¥1d [Option ID = 1079810]
4. 8 / 31& [Option ID = 1079811]

Correct Answer :-
e 8/ 31 [Option ID = 1079811]

13) What is the altitude of Parasnath hill above the sea-level?

T 99 W FUR URT1Y UgTS $ HaATS =1 82
[Question ID = 279500]

1. 2451 feet / 2451 WIC [Option ID = 1079812]
2. 4431 feet / 4431 BIC [Option ID = 1079813]
3. 6547 feet / 6547 WIc [Option ID = 1079814]



4. 8795 feet / 8795 Wie [Option ID = 1079815]

Correct Answer :-
o 4431 feet / 4431 Tie [Option ID = 1079813]

14) When did Godda district came into existence ?

TMiger forar o4 e & 3mar ur?

[Question ID = 279501]

1. 26t May 1985 / 26 HS 1985 [Option ID = 1079816]
2. 234 May 1986 / 23 {3 1986 [Option ID = 1079817]
3. 24t May1983 / 24 HS 1983 [Option ID = 1079818]
4, 25t May 1983 / 25 HS 1983 [Option ID = 1079819]

Correct Answer :-
« 25t May 1983 / 25 s 1983 [Option ID = 1079819]

15) When was Simdega district carved out of Gumla?

Rymem foram e I et Hd gor Ur?

[Question ID = 279502]

1. 30t April, 2001 / 30 3%, 2001 [Option ID = 1079820]
2. 4t April 2002 / 4 37Id 2002 [Option ID = 1079821]

3. 5t April, 2009 / 5 310, 2009 [Option ID = 1079822]
4. 7th April 2000 / 7 3fUe 2000 [Option ID = 1079823]

Correct Answer :-
« 30t April, 2001 / 30 311, 2001 [Option ID = 1079820]

16) In which year JSCA International Stadium Complex was inaugurated?

e A1 # SEeRiiY gevARma wfead ufeR &1 Sgured gar ur?
[Question ID = 279503]

1. 2017 [Option ID = 1079824]
2. 2013 [Option ID = 1079825]
3. 2011 [Option ID = 1079826]
4. 2006 [Option ID = 1079827]

Correct Answer :-
o 2013 [Option ID = 1079825]

17) Which festival of Santhal tribe is called ‘Sohrai’?



TYTA SIS DT B AT AER HIgS' Heardl g?
[Question ID = 279504]

1. Winter festival / 2ff/d@Ieie IER [Option ID = 1079828]
2. Animal Sacrifice / UY] Sfd& [Option ID = 1079829]

3. Sowing Festival / ifdTHgId [Option ID = 1079830]
4. Harvest Festival / gt T @8R [Option ID = 1079831]

Correct Answer :-
« Harvest Festival / &3 &1 @8R [Option ID = 1079831]

18) Which dance form depicts act of preparing for the Hunt?

g ¥ fore A} w1 &1 o1 {5 oo =0 & gxitar wan 32
[Question ID = 279505]

1. Hunta / gcT [Option ID = 1079832]

2. Mundari / §ERT [Option ID = 1079833]

3. Barao / sRTd [Option ID = 1079834]

4. Domkach / GH®TE [Option ID = 1079835]

Correct Answer :-
. Hunta/E'ET [Option ID = 1079832]

19) Which was formerly part of Tilaka Manjhi University?

Td # faae wisht fayfaemaa &1 fewa «m ur?
[Question ID = 279506]

1. Kothan University / ®1aM fayfaeed [Option ID = 1079836]

2. Sido Kanhu Murmu University / 81 &g T4 fayfa=med [Option ID = 1079837]

3. Vinoba Bhave University / famran vma fayfaeme [Option ID = 1079838]

4. Nilambar- Pitambar University / fAaeR- fUater fayfammea [Option ID = 1079839]

Correct Answer :-

« Sido Kanhu Murmu University / I8! &g # fayfamme [Option ID = 1079837]

20) Jamshedpur is situated at the bank of which of the following Rivers?

srRIeyR Fafafaa afeal & @ frw 9 w R@ 82
[Question ID = 279507]

1. Damodar / GMHI&R [Option ID = 1079840]

2. Confluence of Subarnarekha and Kharkai / T30t a1 3R @bl & T [Option ID = 1079841]
3. Panchane / G2 [Option ID = 1079842]

4. None of the above / 378 ¥ ®1s +}f T8I [Option ID = 1079843]

Correct Answer :-



« Confluence of Subarnarekha and Kharkai / ¥aUf YT 3R WIfdhh! & TTH [Option ID = 1079841]

21) The percentage of literacy in Jharkhand as per 2011 census is?

2011 F STRIVAT F AR FRTGS | A&RAT BT Ufa=rd F1 32
[Question ID = 279508]

1. 77.7 [Option ID = 1079844]
2. 34.7 [Option ID = 1079845]
3. 66.4 [Option ID = 1079846]
4. 51.4 [Option ID = 1079847]

Correct Answer :-
e 66.4 [Option ID = 1079846]

22) The district in Jharkhand which has lowest population is?
FRES W TN HH S-S are forel 82
[Question ID = 279509]

1. Pakuda / Udal [Option ID = 1079848]

2. sahibganj / TSI [Option ID = 1079849]
3. Chaatra / 9T [Option ID = 1079850]

4. Lohardagga / @IGIGHT [Option ID = 1079851]

Correct Answer :-
» Lohardagga / ARG [Option ID = 1079851]

23) The rural population of Jharkhand as per 2011 census is?

2011 Ft TRIVAT F ATAR FRTS $I ITHIUT TS 82
[Question ID = 279510]

1. 25,055,073 [Option ID = 1079852]
2. 10,767,047 [Option ID = 1079853]
3. 48,965,789 [Option ID = 1079854]
4. 39,456,471 [Option ID = 1079855]

Correct Answer :-
» 25,055,073 [Option ID = 1079852]

24) The total population of Jharkhand as per 2011 census is?
2011 Ft TRIVAT F AR FRTES B! A TGS FT 82
[Question ID = 279511]

1. 32,988,134 [Option ID = 1079856]



2. 47,895,452 [Option ID = 1079857]
3. 12,159,753 [Option ID = 1079858]
4. 63,741,963 [Option ID = 1079859]

Correct Answer :-
» 32,988,134 [Option ID = 1079856]

25) Jharkhand High Court is the in the country?

TRGS TA AT SR B

[Question ID = 279512]
1. 12t [Option ID = 1079860]
2. 17t [Option ID = 1079861]

3. 19t [Option ID = 1079862]
4. 215 [Option ID = 1079863]

Correct Answer :-
« 215t [Option ID = 1079863]

26) Bihar Institute of Technology at Sindri is renamed as?
RicH ¥ fgr $wiege ITw Saarel &1 A1 ged fear war 82
[Question ID = 279513]

1. Birla Institute of Technology / faRell S¥teye 3Tk <aHIaIST [Option ID = 1079864]
2. Birsa Institute of Technology / faR™T $¥I&]e 31T CoHIdTSH [Option ID = 1079865]
3. Bharat Institute of Technology / TTeNfiT! TR HRd [Option ID = 1079866]

4. None of the these / TR ?ﬁ'sc 1} Taf [Option ID = 1079867]

Correct Answer :-
« Birsa Institute of Technology / foR¥T $EI&E 3 <oHIdisH [Option ID = 1079865]

27) Jharkhand Ratna Award in 2012 was awarded to?

2012 ¥ FRES I REPR I GHTd foam 1ar ur?
[Question ID = 279514]

1. Sushila Hansda / g2fTell §9aT [Option ID = 1079868]
2. Shibu Soren / fRIg |k [Option ID = 1079869]

3. Mukund Nayak / §&¢& AR [Option ID = 1079870]

4. None of these / 3TH ¥ @3 a8l [Option ID = 1079871]

Correct Answer :-
 Mukund Nayak / §&& A& [Option ID = 1079870]



28) Science city in Jharkhand has been established in ?

YRGS | fagm= wew o wifie fomar wam 32
[Question ID = 279515]

1. Ranchi / NEl [Option ID = 1079872]

2. Hazaribagh / 8STRIGNT [Option ID = 1079873]
3. Bokaro / §1®RI [Option ID = 1079874]

4. Jamshedpur / STRIGYR [Option ID = 1079875]

Correct Answer :-
e Ranchi/ I [Option ID = 1079872]

29) Raj Mahal hills have which of the following important waterfall?

IS Hed vgIfea ® Frafefaa geayef sram fia 32
[Question ID = 279516]

1. Hirni / fgRoft [Option ID = 1079876]

2. Raj-Rappa / ISI-XWT [Option ID = 1079877]
3. Motijhara / HIcgRT [Option ID = 1079878]
4. Kolata / PicidT [Option ID = 1079879]

Correct Answer :-
« Motijhara / AITERT [Option ID = 1079878]

30) Raj Mahal hills in Jharkhand has tribes as its residents?
YRGS | WS Ugd Uglisdl & Faial & U d SRR
[Question ID = 279517]

1. Soria Paharia / a1 Ugfar [Option ID = 1079880]
2. Pahari Kharia / T8RRI @R3{T [Option ID = 1079881]
3. Asur / 3RIR [Option ID = 1079882]

4. Bhumij / Yf&ST [Option ID = 1079883]

Correct Answer :-
« Soria Paharia / |IfaT TgRAT [Option ID = 1079880]

Topic:- Set04_MANnLR

1) Find the best alternative that completes the following series ? Police : Khaki :: Navy : ?

fFrafafad fieer ! R $A e 9 a1 faweq Wiel? gfer: [ :: T/T:? [Question ID =
279925]

1. White / 9% [Option ID = 1081497]
2. Blue / IdT [Option ID = 1081498]
3. Green / gXI [Option ID = 1081499]



4. Grey / ¥ [Option ID = 1081500]

Correct Answer :-
« White / ¢ [Option ID = 1081497]

2) If in a code language ONE is written as TWENTY SEVEN, NINE is written as SIXTY FOUR, how
would FIFTEEN be written in the same language ?

IfE HIS YTIT H ONE &1 TWENTY SEVEN & +=U # for@r &itar €, df NINE &1 SIXTY FOUR & ¥4 & forar
ST €, 98! HTST # FIFTEEN 39 feRar SImeem? [Question ID = 279926]

1. THREE HUNDRED FORTY THREE / @9 & dfdTeiig [Option ID = 1081501]
2. ONE HUNDRED TWENTY FIVE / T ¥l U=d1¥ [Option ID = 1081502]

3. FOUR HUNDRED / IR &t [Option ID = 1081503]

4. TWO HUNDRED SIXTEEN / &I I 9idg [Option ID = 1081504]

Correct Answer :-
e« THREE HUNDRED FORTY THREE / a= @ darefg [Option ID = 1081501]

3) While going through a schedule of roadways, Mr. Bony notices that there are four routes
available for going from Himmatpur to Imlipur, also that there are six routes available for going to
Imlipur Jorapur. How many routes thus shall be possible for reaching Jorapur from Himmatpur ?

AT & TP HRIHH A ToRd §¢, M Tt A A fran fF furar @ surefihR oM & fore ar arf Iudsy §,
SATAIYR TRTR 9 & T o8 art Suasy §1 fRaqR ¥ WR1QR a@ uga- & g fraw ot wva g

[Question ID = 279927]

1. 24 [Option ID = 1081505]
2. 10 [Option ID = 1081506]
3. 12 [Option ID = 1081507]
4. 35 [Option ID = 1081508]

Correct Answer :-
e 24 [Option ID = 1081505]

4) If Suhas reverses the digits of a two digit number, the difference between the first and second
two digit number is a cube of the number that is the difference between the two digits, find the
second digit of the first two digit number ?

Tfe YT S1 3P| B B & 3! DI Iacdl 8, d Tgal 3NR G} WBT BT 3R ) 3P| F 3R FHT U0 g,
ggell gt 3l for H=T BT gART 3i% ge ? [Question ID = 279928]

1. 9 [Option ID = 1081509]
2. 2 [Option ID = 1081510]
3. 1 [Option ID = 1081511]
4. 5 [Option ID = 1081512]

Correct Answer :-
e 2 [Option ID = 1081510]

5) If in a code language DAY is written as 1, WEEK is written as 49, SEPTEMBER is written as 900,
how would YEAR be written in the same language ?



IfE TP IS UTUT DAY # 1 & U H forar Srar 8, 9f WEEK &1 49 & +=U # for@r Sitar 8, SEPTEMBER &1
900 & *Y ¥ for@T ST 8, YEAR &) IHY 19T # 9 ferar S a1f@e? [Question ID = 279929]

1. 134225 [Option ID = 1081513]
2. 144225 [Option ID = 1081514]
3. 133325 [Option ID = 1081515]
4. 133225 [Option ID = 1081516]

Correct Answer :-
e 133225 [Option ID = 1081516]

6) Find the odd one out in the given series : Remix, Return, Rehaan, Review.

3t 13 Jen ¥ sRe e fawa g it aro=f, Yem, adten,
[Question ID = 279930]

1. Review / THI&T [Option ID = 1081517]
2. Rehaan / R8T [Option ID = 1081518]
3. Remix / Rftre [Option ID = 1081519]
4. Return / 9T9T [Option ID = 1081520]

Correct Answer :-
« Rehaan / R@H [Option ID = 1081518]

7) Find the best alternative that completes the following series ? West Indies : America :: Seychelles

Frafafad e o @1 o= I g 3T fase Wiel? dve 3t 3Mmi®T :: A :? [Question ID =
279931]

1. Oceanla / 3T [Option ID = 1081521]
2. Asia / TR [Option ID = 1081522]

3. Island / €9 [Option ID = 1081523]

4. Africa / 31T [Option ID = 1081524]

Correct Answer :-
« Africa / 3{WIdT [Option ID = 1081524]

8) Two Statements I and II are followed by Two Conclusions I and I1.

Select your answer as :

A. If only Conclusion I follows
B. If only Conclusion II follows
C. If both I and II follow

D. If neither I nor II follows

Statement I : Geography is the study of Earth's landscapes, people, places and environments.
Statement II : India is a country of different landsacpes, people, places and environments.

Conclusion I : India is a part of the World's Geography.



Conclusion II : India is a part of the Planet Earth and its landscape

A HYT 3R B a1g ot Frepf R SR R MW E 1
3UAT SiaTe 39 ¥4 ¥ RIfga #3:

A) Tfe oo frepy 2 T B

B) afg ¥aa frssd 3 wEt 2,

C) af ¢ 3R 3 G Wl § ok
D)AfREAMR MR AN I TN E!I

FYF ¢ YNa gt & uiezy, ahm, waET iR araraRon & srwrae &1 favd 31
FY {: URa fafira Y-yffy, @, R 3R araravon &1 e 81

s ¢ WRa g 3t e &1 Te = @)
e 3: YRT gt wre SR 3UF ufvewy &1 uw fRwa gl

[Question ID = 279932]

1. A [Option ID = 1081525]
2. B [Option ID = 1081526]
3. C [Option ID = 1081527]
4. D [Option ID = 1081528]

Correct Answer :-
e C [Option ID = 1081527]

9) Two Statements I and II are followed by Two Conclusions I and II.
Select your answer as :

A. If only Conclusion I follows
B. If only Conclusion II follows
C. If both I and II follow

D. If neither I nor II follows

Statement I : All engineers are studious.
Statement II : Some actors are not engineers.

Conclusion I : Some actors are engineers.
Conclusion II : All actors are studious

A PYTL AR F et Frepd 2 R e & 1

3UHT a9 39 ¥4 ¥ RIfga #3:
A) Tfe Faa freed L 98 21

B) afg ¥aw frspd 2 T B,

C) a3 2 3% 3 g1 WGl § 3R
D) A RARI TR

HYF 3 gt AT srarf
HYT R: PO AT SR T8 §



e 2: $o iftmar SonfaR §
forse R : Foft AT sreageiia €1

[Question ID = 279933]

1. A [Option ID = 1081529]
2. B [Option ID = 1081530]
3. C [Option ID = 1081531]
4. D [Option ID = 1081532]

Correct Answer :-
e A [Option ID = 1081529]

10) Two Statements I and II are followed by Two Conclusions I and II.

Select your answer as :

A. If only Conclusion I follows
B. If only Conclusion II follows
C. If both I and II follow

D. If neither I nor II follows

Statement I : Audio calls are bad for ears.
Statement II : Video calls are bad for eyes.

Conclusion I : Audio calls are bad for eyes.
Conclusion II : Video calls are bad for ears

A HYT R AR F a1g at w2 s e e & 1
3UHT SiaTq 39 ¥4 ¥ RIfga #3:

A) e Faa fased § T 21

B) afg ¥aw frspd 2 T B,

C) a3 2 3R 3 g1 W51 § 3R

D) A RAF ARG

FYT ¢ FTH & U e Fieq @G &
HYF 3: Y et 3@ P T TR E I

s ¢ : ol & T Siifsal Hia R F I
e 3 : Aif3a Fia AT F R @vE &1
[Question ID = 279934]

1. A [Option ID = 1081533]
2. B [Option ID = 1081534]
3. C [Option ID = 1081535]
4. D [Option ID = 1081536]

Correct Answer :-

« D [Option ID = 1081536]

11) Find the odd one out in the given series : Print, Television, Radio, Telex



3 ¢ s A sRiETa fawg gA: file, eefifaem, Y34l e
[Question ID = 279935]

1. Telex / /a9 [Option ID = 1081537]

2. Television / CEifaw [Option ID = 1081538]
3. Radio / &3l [Option ID = 1081539]

4. Print / 14 [Option ID = 1081540]

Correct Answer :-
« Telex / ¢feTa [Option ID = 1081537]

12) Find the odd one out in the given series : Israel, Christianity, Islam, Zoroastrianism

3 13 g ¥ sy fawy g: soRTgd, T8 o, 37, RIS [Question ID = 2799361

1. Zoroastrianism / URE ] [Option ID = 1081541]
2. Israel / SHRIZA [Option ID = 1081542]

3. Christianity / $8TS & [Option ID = 1081543]

4. Islam / $¥H [Option ID = 1081544]

Correct Answer :-
o Israel / TIRTZA [Option ID = 1081542]

13) Sweta decides to write down all the alphabets of the English language but without any vowels.
The number of alphabets that thus remain, by how many whole nhumbers would that number be
completely divisible by?

a1 A 3RS HTUT Bt guiHTeT P 3T forelt TR & |t SreR fereq &1 B fpaT| 59 YR 994 91 9l &t
@ 91, 98 @& fraq quifel 9 gt ave @ faursa gifte

[Question ID = 279937]

1. 4 [Option ID = 1081545]
2. 21 [Option ID = 1081546]
3. 7 [Option ID = 1081547]
4. 2 [Option ID = 1081548]

Correct Answer :-
* 4 [Option ID = 1081545]

14) Maulik is playing with an ordinary dice, if he gets a 6 when he rolls the dice for the first time,
what is the probability that he shall get a 2 in the next roll of the dice?

Hiferd TP ATYRY UTHET & W 78T €, 3R 98 Uga! 91 U $1 bl g 30X & 3ITdT 8, ol T JHTaT1 © 6 32
T &1 SERT B TR R g firem?

[Question ID = 279938]

1. 1+36 [Option ID = 1081549]
2. 1+18 [Option ID = 1081550]
3. 1+6 [Option ID = 1081551]

4. 1+12 [Option ID = 1081552]



Correct Answer :-
e 1+6 [Option ID = 1081551]

15) During your journey in a train you saw that a person from coach next to your coach falls down
of the train. What you should do in such a situation?

ITATAT & SR MU T F 3T Ha A T aafad 371 @ -9 AR wmar 31 -0 RAfa & smusst wm s
91fT? [Question ID = 279939]

1. immediately rush and pull the alarm chain to stop the train and so that the person may be helped. /%fr Eal
A & foIe R 3 = Wi difes 39 Hag frd Wb | [Option ID = 1081553]

2. stop the person from falling by shouting at him and ask him to get quickly and entrain. / 39 fad &I fIe®
iRA ¥ A 3R I o] § UwHe & T w8 | [Option ID = 1081554]

3. immediately jump off the train to save the falling man. / 3TGH! & g9 & ¢ qRd ¢4 ¥ Fa | [Option ID =
1081555]

4. wait for the next stop of the train stops and then inform the railway authorities there. / 3TCT R P UTE B
3R TR 981 Yad SiRIHING! &1 gfad HX 1 [Option ID = 1081556]

Correct Answer :-

» immediately rush and pull the alarm chain to stop the train and so that the person may be helped. / éf{ Call
A & AL T SraTH 9 Wi difes 3 Aee e b | [Option ID = 1081553]

16) You are working as a manager in a company. You are overlaoded with work during these days.
You caught in a situation of making a power point presentation. How you will deal with such a
situation?

3Y TP HU-I § YaUPH & =9 & B B I8 &1 59 &1 o W ercafies 31 3Mueh! UreR uige W T Usiew =
T 21 3y Tt fRUfa & S fAudi? [Question ID = 279940]

1. Surf on internet for tailor -made presentations / $¢3-c TR gail [Option ID = 1081557]

2. Ask your subordinate to prepare presentation as you are a boss / AT IR 3@ g & fom ol
[Option ID = 1081558]

3. Put efforts to cancel the meeting and reschedule as per convenience / 93 IE B LS ICEIGRIIN £ EHﬁ‘Eﬁﬁ_cr
DR DI PIRI BT [Option ID = 1081559]

4. Will prioritise the work as per requirements and try to make out time for preparing presentation / AT T3
F IUR B DI UIHHAT SHR USICRM dOR - & T IHT fAdhIem &1 Jary ST [Option ID = 1081560]

Correct Answer :-
» Wil prioritise the work as per requirements and try to make out time for preparing presentation /

TIRAHATSN & TR HTH B TUHHAT SHR NI IR F3A & o Trg FebTe &1 Uary & [Option
ID = 1081560]

17) In the following options, four numbers have been given , out of which three are alike in some
manner and the fourth one is different. Choose out the odd one.

fau 7Y IR et A @ &9 JuE @ 9afE te o i A Raga i 31 399 siw wqg & ugar sifog
[Question ID = 279941]

1. 7851 [Option ID = 1081561]
2. 6432 [Option ID = 1081562]
3. 5789 [Option ID = 1081563]



4. 1325 [Option ID = 1081564]

Correct Answer :-
e 6432 [Option ID = 1081562]

18) Five friends A, B, C, D, and E are sitting in a row facing North. D is between E and B. B is to the
immediate left of C. A is to the immediate left of E. Who is in the middle?

U S €, 1, A, &, 3R § ST & 3R U Uf A 93 €1 1 § 3R ft & Fi & 3R &t #ft & Sl st e
21 TS & 1o arfY 3R 1 19 A #1982 [Question ID = 279942]

1. D/ 81 [Option ID = 1081565]
2. E / § [Option ID = 1081566]

3. B/ d [Option ID = 1081567]
4. C / ¥t [Option ID = 1081568]

Correct Answer :-
« D/ S [Option ID = 1081565]

19) Select the analogy which you think matches best in the given example.

R & 1 sraar ®1 gl H
7: 2401 :: 8 : ? [Question ID = 279943]

1. 1225 [Option ID = 1081569]
2. 2627 [Option ID = 1081570]
3. 3125 [Option ID = 1081571]
4. 4096 [Option ID = 1081572]

Correct Answer :-
* 4096 [Option ID = 1081572]

20) Select the analogy which you think matches best in the given example.

12 & 7 e ®1 quf BRI
C6 : E10 :: J20 : ? [Question ID = 279944]

1. M29 [Option ID = 1081573]
2. L24 [Option ID = 1081574]
3. 028 [Option ID = 1081575]
4. K22 [Option ID = 1081576]

Correct Answer :-
e |24 [Option ID = 1081574]

Topic:- Set04_Math

1) A car crosses a by-pass with a speed of 48 km/hour in 12 minute. What is the length of the by-
pass ?



48 {51/ e Tt I A TAd! g5 TP SR TP IIRUT Bt 12 fiFe 3 IR Fdt 8| U 3t aiaTs F1g ?
[Question ID = 280164]

1. 9.6 km / 9.6 f&Ht [Option ID = 1082652]
2. 4.8 km / 4.8 foHT [Option ID = 1082653]
3. 19.2 km / 19.2 f&dT [Option ID = 1082654]
4. 8.6 km / 8.6 Tl [Option ID = 1082655]

Correct Answer :-
« 9.6 km / 9.6 foHI [Option ID = 1082652]

2) Vijay is worried about the balance of his monthly budget. The price of petrol has increased by
50%. By what percent should he reduce the consumption of petrol so that he is able to balance his
budget ?

fawr 3 Wi aie & Wgad & IR § fifad 81 9eia &Y Fiua § 50% 1 3f3 g3 @ @t 3= fpan ufawra
USId @1 WUd DI HH BT IIGY dIfd d8 U ToIe DI Agierd B Ab ?

[Question ID = 280165]

1. 66.66 [Option ID = 1082656]
2. 33.33 [Option ID = 1082657]
3. 25 [Option ID = 1082658]
4. 50 [Option ID = 1082659]

Correct Answer :-
» 33.33 [Option ID = 1082657]

3) Two coins are tossed together.What is the probability of getting opposite side on all the coin ?

3 fied Te a1y 3I8TA W 8| Ta® Rigd 1R faudia ugd oM 3t GuaT A g ?
[Question ID = 280166]

1. 2/3 [Option ID = 1082660]
2. 1/3 [Option ID = 1082661]
3. 1/2 [Option ID = 1082662]
4. 1/4 [Option ID = 1082663]

Correct Answer :-
e 1/2 [Option ID = 1082662]

4) If tan 40 = cot (800 - 30) then find the value of sin 60 ?

Tfe tan 40 = cot (80° - 30) & Tl sin 60 BT A TATY ?
[Question ID = 280167]

1. 1/2 [Option ID = 1082664]
2. 1/v/2 [Option ID = 1082665]
3. 1 [Option ID = 1082666]



4, v/3/2 [Option ID = 1082667]

Correct Answer :-
« V/3/2 [Option ID = 1082667]

5) Statement (A): tan 550 > 1
Reason (R) : For 09< 06 <90°,tan6 > 1

DYd (A) :tan55° > 1
PHRUI(R):0°< 0 <90° FfATtan6 > 1

[Question ID = 280168]

1. Ais correct, R is incorrect / A Tg! &, R Tad g [Option ID = 1082668]

2. Both A and R are correct and R is the correct explanation of A. \ A dUT R ALl g % 3R R, A &I ol ARSAT
T 8| [Option ID = 1082669]

3. Both A and R are correct but R is not a correct explanation of A. \ A ddT R Sl Tgt % TRdR,A P Tg! ARAT
gt @l 2] [Option ID = 1082670]

4. A is incorrect , R is correct / A TIFIH%, R Tgt %I [Option ID = 1082671]

Correct Answer :-
« Ais correct, R is incorrect / A U8l 8, R TTeid | [Option ID = 1082668]

6) If sin 70 = cos (0 - 6°) where 76 and (0 - 6°) are acute angle then 0 is

Tfg sin 70 = cos (0 - 6°) ET 76 3R (O - 6°) YABIU §, &t 8 HT A g
[Question ID = 280169]

1. 11° [Option ID = 1082672]
2. 13° [Option ID = 1082673]
3. 14° [Option ID = 1082674]
4. 12° [Option ID = 1082675]

Correct Answer :-
e 12° [Option ID = 1082675]

7) sin2319 + sin2590 is equal to

sin231° + sin259° fHYP REX ¢ ?
[Question ID = 280170]

1. 0 [Option ID = 1082676]
2. 2sin2310 [Option ID = 1082677]

3. 2sin2590 [Option ID = 1082678]
4. 1 [Option ID = 1082679]

Correct Answer :-
e 1 [Option ID = 1082679]



8) The angle of elevation of the top of a tower standing on a horizontal plane from two points on a
line passing through the foot of the tower at a distance 16 feet and 25 feet respectively are
complementary angles. The height of the tower is

T Qfae Trad W fRUT elR & RReR &, efR F g § TR 381 &1 W A 16 BIC qUT 25 BIT BT gl
TR g fagaii A ITH9 B0 R HIv § i elaR Bt HaTg 2l

[Question ID = 280171]

1. 16 feet / 16 Wie [Option ID = 1082680]
2. 20 feet / 20 WIC [Option ID = 1082681]
3. 25 feet / 25 WIC [Option ID = 1082682]
4. 400 feet / 400 HIC [Option ID = 1082683]

Correct Answer :-
« 20 feet / 20 WI¢ [Option ID = 1082681]

9) The adjacent sides of a parallelogram are respectively 8 cm and 6 cm. If diagonal joining these
sides will be 10 cm in length then find the area of the parallelogram ?

TP AR IgUS DI T YATE HU: 8 .. auT 6 V.34, 7| afe 37 yonaii &) fram aren fawof 10
ﬁtﬁ gl dl FHHIR ag4s T &% d 9ai ? [Question ID = 280172]

1. 48 sq.cm / 48 & J.H}. [Option ID = 1082684]
2. 24 sq.cm / 24 if 9.4, [Option ID = 1082685]
3.96 sg.cm / 96 gif It [Option ID = 1082686]

4.12sqg.cm/ 12 it 9.1 [Option ID = 1082687]

Correct Answer :-
e 48 sg.cm/ 48 Fif I, [Option ID = 1082684]

10) The sides of triangle are in the ratio 2 : 3 : 5. If its perimeter is 50 inch, then what is the
difference between its two bigger sides ?

T YT B YWTE 2 : 3 : 5 F A | §| TS ITBT URATY 50 7 & <l TG IS &1 Y3 F7 3R T
ERTI ? [Question ID = 280173]

1. 10 inch / 10 9 [Option ID = 1082688]
2. 15 inch / 15 $49 [Option ID = 1082689]
3. 50 inch / 50 9 [Option ID = 1082690]
4. 5inch / 5 %9 [Option ID = 1082691]

Correct Answer :-
« 10 inch / 10 $9 [Option ID = 1082688]

11) A hall is 14 metre long , 12 metre wide and 8 metre high. What is the length of its diagonal ?

TP i 14 ez ava, 12 Hex isT iR 8 Wew =1 8 af 59 fawuf &Y wvars oam g1t ? [Question ID =
280174]

1. 2V/101 m / 2v101 Hex [Option ID = 1082692]
2. 2v/404 m / 2v/404 Hiex [Option ID = 1082693]



3. 4v/101 m / 4V/101 Hiex [Option ID = 1082694]
4. 2v/202 m / 2/202 HieR [Option ID = 1082695]

Correct Answer :-
« 2v101 m/ 2v101 Hiex [Option ID = 1082692]

12) In an election there are only two candidates Ajitabh and Amitabh. Ajitabh got 59% and won by
a difference of 14400 votes. Find the total number of votes?

T gA1d H Had of IWfGar SAforary iR frary €1 SfSrary &1 59% 3R 14400 diel & 3idv | ofta freht
diel @1 d IWAT BT Udl TME? [Question ID = 280175]

1. 80000 [Option ID = 1082696]
2. 75000 [Option ID = 1082697]
3. 80500 [Option ID = 1082698]
4. 70000 [Option ID = 1082699]

Correct Answer :-
« 80000 [Option ID = 1082696]

13) A scooter is quoted at Rs. 23,500 plus GST at the rate of 18%. Find the amount of GST paid by
the buyer.

TP ThHeX T 23,500 B 3R I W STt 18 % W fawar 81 @R gRT shewadt ot Iwd fha-t € 15 § uan
TME | [Question ID = 280176]

1. Rs./® 4230 [Option ID = 1082700]
2. Rs./®. 4320 [Option ID = 1082701]
3. Rs./?® 2340 [Option ID = 1082702]
4. Rs./?. 4300 [Option ID = 1082703]

Correct Answer :-
e Rs./® 4230 [Option ID = 1082700]

14) A cone is made by melting a cylinder keeping the radius same. Find the percentage increase in
height.

% O Rids? @) frgeq ¥ 99741 9irar @ iR U Y &) a8 W &1 SHars & ufasra gfS &1 uar g
[Question ID = 280177]

1. 75% [Option ID = 1082704]

2. 100% [Option ID = 1082705]
3. 150% [Option ID = 1082706]
4. 200% [Option ID = 1082707]

Correct Answer :-
» 200% [Option ID = 1082707]

15) If perimeter of a rectangle of width 8 cm is equal to the perimeter of square of 64 cm, then
length of the rectangle is



gfe 8 1. 4. ST aTaT 3Mad BT &% d 64 V.1, URAY 1A It F 76 & SRR 81 41 Id BT TS
ghft| [Question ID = 280678]

1. 24 cm /24 4.9, [Option ID = 1085208]
2. 12 cm /12 9 [Option ID = 1085209]
3. 8 cm /8 .. [Option ID = 1085210]
4. 16 cm /16 9.1, [Option ID = 1085211]

Correct Answer :-
e 24 cm /24 9.9, [Option ID = 1085208]

16) The floor of a room is of size 5m x 4m and its height is 4m. The wall and ceiling of the room
require painting. The area (in m2) to be painted will be

foret Y & et B 717 5 Hew x 4 Hew @ U1 I IS 4 Wi 8| FAY B SaRT aUT T U= I/ HIAT
2| I fRd WM 91 HIT BT &% d (a7 Hiex #) g |

[Question ID = 280679]

1. 92 [Option ID = 1085212]
2. 72 [Option ID = 1085213]
3. 80 [Option ID = 1085214]
4. 46 [Option ID = 1085215]

Correct Answer :-
e 92 [Option ID = 1085212]

17) Length of parallel sides AB and CD of a trapezium are 9 cm and 15 cm respectively. If its
diagonal AC and BD intersect at O then AO:OC is

TP JHAW Tgys ABCD &1 HHGR YSTE AB TUT CD $t wa1s HHRT: 9 A1, aur 15 /.4, 3| afe 39 fawof
AC YT BD HHRT: O R Ufawde &3 df A0 : OC 2| [Question ID = 280680]

1. 3 : 5 [Option ID = 1085216]
2.9 : 25 [Option ID = 1085217]
3.5: 3 [Option ID = 1085218]
4. 25 : 9 [Option ID = 1085219]

Correct Answer :-
e 3:5[Option ID = 1085216]

18) Each side of a quadrilateral touches a circle. If length of its three consecutive sides are 8 cm, 9
cm and 4 cm then what will be the length of its fourth side ?

<l s &Y Tt Yot U gu 3 wuxf Sl 3] afe 39F A9 wura Yo 3 dars s 8 A, 9
[, aur 4 A7, { 9 DY YT B a1 a1 ghf ? [Question ID = 280681]

1. 3 cm /3 9.5 [Option ID = 1085220]
2.7 cm /7 9.7, [Option ID = 1085221]
3.12 cm / 12 9.4, [Option ID = 1085222]
4. 13 cm /13 .11, [Option ID = 1085223]

Correct Answer :-



« 3cm /3 .41 [Option ID = 1085220]

19) What is the measure of the angle which is one fourth of its supplementary part ?

I PHIUT BT T FT 8 S 30 AHRP DIV & I U & SR16R @ ? [Question ID = 280682]

1. 36° [Option ID = 1085224]
2. 45° [Option ID = 1085225]
3. 30° [Option ID = 1085226]
4. 72° [Option ID = 1085227]

Correct Answer :-
e 36° [Option ID = 1085224]

20) Find the maximum area of a rectangular field surrounded by a rope of length 140 metre ?

140 Hiex &1 IRF F T W1 AT PI- T ATAATPR §7Fd H 99 9871 81T 2 [Question ID = 280683]

1. 1225 m? / 1225 Hex2 [Option ID = 1085228]
2. 4900 m? /4900 HIeR2 [Option ID = 1085229]
3. 1235 m? /1235 HIex2 [Option ID = 1085230]
4. 280 m? /280 HIeR2 [Option ID = 1085231]

Correct Answer :-
« 1225 m?/ 1225 Hiev2 [Option ID = 1085228]



